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%)(0\\(\&1‘( é form of a quadratic equation: (3, \“\O\( x( = O

The three methods we have learned for solving quadratic equations are:
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¢ only method that works for any quadratic equation

If \O = O , always use the square root method. (L1)

The é\%QX\W\\\(\&){\)( will tell the number and types of solutions which

will determine which method we use to solve if b # 0. (L3)
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o If \() - \-\ al. L—O , the equation has 5! ) solutions.
o If \03 —L-\O\C = O , the equation has | }Dg solution.
o If \0 » -L\ 0L O , the equation has ﬁ A O solutions.

o Ifthe discriminant is a \")QX"Q ek S%i A_OA( Q, the solutions

will be (&*\0‘(\&9 . Use Q&Q}(‘D‘f\m‘) to solve these

equations.

o If'the discriminant is [ﬂ O aperfect square, the solutions will be

\(C V(A)('\QY\O\O . Use the Q&M‘\’_\Q VD’(W\\A\O\to

solve these equations.




For the following problems, complete these steps:
a) Find the discriminant
b) Tell the number and type of solutions
c) Choose the correct method to solve the equation (if there are any solutions)
d) Find the solutions (if there are any)
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10. A toy rocket launched into the air from the ground has an initial velocity of 160 ft/s.
Write an equation. 2
WY = AT Dk

At what time will the rocket land on the ground?

0= —\uk’ +\wok
0+ -k (£ -\0)
£=0 =103y

11. A ball is launched into the air with an initial velocity of 64 ft/s and an initial height of

5 feet. Write an equation. \(\ LJ(\ - A\ l(? N \_QL\ t i 6

Use the discriminant to determine if the ball will reach a height of 50 feet.
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12. Standing on the balcony, you drop a tennis ball to the gym floor below. The equation
h(t)=-16¢* +15.25 models this situation.

What does the number 15.25 represent in this situation? '\'(\\)V\OS) Y\Q\ \(\£ = \OO\‘QO
What is the starting velocity of the ball? @ (A(\g ‘Q\DD\(

How high from the ground will the ball be after 0.5 seconds?
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How long will it take the ball to reach the gym floor?
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